1115% - BEAE |- Bt

GEERGEE N (aEr2rEES -
SREBAESS « B537) )

(A) 1 IREDABERET S 749 SifdRe - ARERSOREERSIRGISE 37 K36 3 RS EZIE
F o AR AUE - MR R 7
(AREFEEBISHREREZMERE B)EEEERLRREZ —RITREH
ORFEEFISRREZ TEEO)H MR E B\ LB B 2 R

(D) 2 ‘ARHEEEARBITHIE I Z R0 - NFI A& I 2
(AEA R FAE — EEATRHEC
BEARRAUEE SR IEE - A BT
OFEREFTNE ZRTT > BIRILARRE B
(DYEABTRMIE 28T MERIAR S5 2 N AT E

(D) 3 IREPAGERET S 401 Sifdts > NYIEHEREIDARZ BN ?

(ABIGRER R BNEEHKE OZ2HAERO)EREHHR
(A) 4 BAREREBFER] > IR A iR ?
(A) RyPriE/ DEL > FERET TE S B B
BYE LB ROR R ERE P
OREBUES mELEBIE - BAFES B/ VBIG LI H 28 Tk
(DR LS E Rk

(©) 5 RENEBRETSE 490 ShfiRE - ARATSFASIEH TR s 2
AFEEENZEE  SFEZRE - INEZEEZ A E
BFHEMZ B HREGREOSNEGIZER @ B2EE 2 IRE
OF#EMNZEmrERE S =8 TR ZEHH - 2@ 2 (R
DyFEBEMZ B BiREGRE &R BEH 2 Bl > B2 fRE

(A) 6 HRASEG I T - THIRL A FH 2
(A)ZINEF T - E—HEHE
(B)EHEG H AR - AT E7ARORE R ELBIREA]

OIDEEH G - #tRE R ZIRE - A EEI0AE BiP s #E
(D)FEHE IS ER R & B T

(B) 7 EIABRETS 694 SEERREE R - EATISRUARUE > RS A HMEREEEE - R 20
pREGH 60 BRUA_EEERARET] - AR IR ES - 1B R EE NGRSz
TELZHE > (RIERC RS IMATEEARE ?

(A)TAEHE B)FPEE OMERED)LEFE

©) 8 i BRENIIREESE 4 RANE - Gt R B O e A\MEERZ AR LTEARREN > £+
TFIOLARRIR  BLARELNA (R A A PRl 2
(A)TEfE BMERE OLFEODZGEH

©) 9 REEME K AENEFRE B > ARBIREE - MR & L ?

(A ZBIRAF IR AN RZHER]
BRHERAFZEHRE 7 KR T2 REHE 2R
OANRZERBFLINGE 2N BEES 22 RATRE
(D)yZElRAE DSIME 2R > il T A RS RG T AS T o] ZHER




(B) 10

D) 11

(A) 12

O 13

(A) 14

(A) 15

D) 16

(D) 17

D) 18

O 19

1115% - BEAE |- Bt

RIBHREEAR LB R MIEA B EEBIRAIAERE ?

(MRELLRFNER - JyRER/NZARETTTE

(B R FHUE Z BT ZE TG A REAR i 5 AH e M (L B SR R T DARE RE B H T -
H & al el A% A T DU

OFENIRERE 22K - ITEEEN G RRZefkz45:E - MASEhEAHERE

2 Z IR BEREA I RE Z 3T

(DILEEFTERILZ T > BLHAVZ NS » WIRNE

FRIRREIRA ZHE - B ARE ISR ER R - YR (ol & A 2

(ABIZITTE 2 MER e EREHE T - FHERMELZSE  HEEE EZERETR
BEREIRE@®BEZITE NSRS - A R 2 = A TR
% BREC N e ZESrZEE#e  fRE

ORGAEMIFE S AINEIRBEANALIRA Z 2 0 friE - HMIEIREEARATE » 5 =Z EH]
FIET

(D)HFAENL AR Z I EER O HEA RN AE N Z B A FRE 2 375

WIBRIT AR ZEENE - (TBERIE RS ST B T B & 2

(ATTE e e R el a i » SRR (Eant TR R AT

BT TE e NBER LA ILANE R

OILEBEREHAR] - SRR B EIDE & - Tl E T B & AR

(DT B A Rr

REESTREME - MR B AsTana s N ZJH% 7

(A)FEE (BB

OEFEH MR ERERD)AR

REEFIGERRSORE - BIRILAZR B - TR & 8has ?

(AILEZBEA A2 - AR DA g

B) EZEAEMEIUTER M Z A

(OILEZ BN ZIHHRE - HEAEITE - TR I

(D)IL7EZE B G AR RT S B st - &EIDARESRK - 3 ~ FREtRRE L T DUk
T

Erg e H ARG B ZR BT AT - WEEREE RiZ B e iRBIHRE oA -

BEETT B B S R » IRBETTENEME » YRG5 TR 7

(AHZREHIREETENES 83 REFHIA

(B)FHEZ g sk G ISR T HIREASS 30 FRE5 5 SHERREE

O ErE BTSSR

(D) Z e THBUFE IO HIRIEASS 30 (RS 5 THEGFEE

A EAR SO A P e 2

(AEILTINE P EREEE B BRG] By LHEEEH A

OFr b A BEEHENE D) B R E T R SR

ARIREIREZ 8 > NYIRGIL A& #EER 7

(A)RFRHMEZEDEEE RS RENE A B)RAMFIER L2 E35

(OB EELEA T Z B RIER 2 — (D) RRIA 2 8 Bl s B Il e el

AR EAR AL P e = 2

(AERIFRET B)EGHAN (COZHHR A (DR A ZIEM

RENEBEAREE IR - MBS R EHEIRE TR ?

(ATTBURRR R T 2T Ea 77 (BT T U RA N S5 5 2 M g 1L 15 T A2 Z AT BUs 77

2



1115% - BEAE |- Bt

(OFTBUEAR N S E AR ERMHE (A (D) A 2 2 0 ZZ M B IR TEUEM
(D) 20 =ABERETSE 697 SRR E O HE R  SXE I B RBIFTRAVE R0 - H
EERIT ARV ARCE - RN BRE A RESURBEIE R R RO E e s > 1A
FHREE S A R EUREMEE YR - RIZEREIRNIFEA] > B 28R DISREBHE R & 3 = EX
BIEYIRR - (58 NIIREAE A ?
(A FErE BReRERE (O BAYMEIRYED) B
(B) 21 MRIKBEIEE S R - NRAGUF OB EN SRR TR > B Y
JRREIFAN?
(AMTTBEBHRFEA] B) A EBEEEE LR (ORES17RAIO) EHE R = Al
(©) 22 THIRHF G Z AL - fAlEhER 2
(A)GRTHIARE =AM E 2 HREE
B)EMAEA S 5 F
Ca%Z 5 FLA NN ~ #EEdEleZ 55
DYEIZIIIAFIGER ~ ORLEha o7 B2 E
(C) 23 BREFRHITIERENTSIT RIS Z(F > BITIN LGS - RZHERERM ?
(MRS 302 FRZFATIIZESE - MEHORIESS 134 RANEEIH]
BIHIES 126 fRZZEENLIE
ORES 277 RZBEFE > WAHES 134 FRITEE
DA 125 Rz G R 1SR
(B) 24 H B2 LBtV acE - SR miERA fEE A - B H 2R DAL E R
B EEEZAERNERE - AR IR EATse sl Z s & 0F - ARG & HE 2
(MEDHRZIEAN > SLHEAEFEVEE GELFBEEAN  BEEVEERLEH
OELLZRZIEN W HEAZFMERODELLZRZEN - (HEFERER T EA
©) 25 B TEBHEEGE - BINZEIEEES 59 RIBSE K EMERENS TIREESEKE
GBI ZRBEG > NIRRT & IR ?
(A)Z B R AR S IR 25 Préa (ML Aets—<HHL > A RE— Wil
(B)<H T 55 TIRbaIR SEa (T » RIFFRIFEIEARTRS 59 MR SmtE Z M
OEEREHRB RS LIRRCALS 280
(D)RdfE&E (Al DA—#E9EEL > A ERIETE
(B) 26 ARE "AEMIGETT ) > NYIRGITE IERE ?
(AR T HE > A lan < E L
BYEMIAE H#AMH MG T8 - B HEREES 3 HEs#4800
OERFFERRTHNE - BZFEHREEZRS 3 HfEsERT
(DA TR » AMERAEL T SRIEZ
©) 27 WagE HbhgEaE 2 ALLERGR  SOURMNERRENEGG S 23 - MG g
ZA > NI SR 7
AEEZEEREGE  LEHRARR ®FEAGRBEA—GgZER
OEHHEHEEE  HEEGREGENEOGRIFEE TR FE - ~MFEG
(D) 28 (RELAEANEEMREEE > Ry A & EhE 2
(AGEMTTEFN - AR R F A Z ]
BETTEHENE - (EARE ZRAENT /2
OF R AFAREARBIRIE I TEREE - (EFLUARRIRE
(D) R N REEATER CRIE B A SR IHAVAS (T EUE G - JRA_ B AR e A AR By
i<

I



1115% - BEAE |- Bt

(©) 29 THNEIE AR Z SHBEEEH ?
(AFRFEZ —HCELINZ NEEMEAL
(B)FRFEZ — 7t 7 By AN [E] & 2 FEARF
(OFKRFE—THZF HHBEM T BER » BN RIEEATE
D)yRFEZ —HHERRNGZIEHHE
(C) 30 TNHUMEIEFRERER T RIARE 2 RFEE ] 2
(AVEEMES] B)ILEMERH] (OBt EHI(D) 7 IR ZE
(C) 31 Do not open any message with an attachment entitled “POSTCARD,” whoever sent it to you. It is a
virus which opens A POSTCARD IMAGE, which “burns” the whole hard disc C of your computer.
(A) instead of (B) in relation to (C) regardless of(D) in terms of
(B) 32 Due to global warming, a consistent pattern of of ice wall in Arctic 18 observed.
(A) reception (B) recession (C) recognition(D) recreation
(A) 33 More and more TV channels with the proliferation of shouting-match political talk shows make voters
by irrationality during an election season.
(A) fueled (B) visualized (C) fulfilled(D) verified
(B) 34 The employer was forced to negotiate with their employees for a 7-day strike, he expected the negative
impact of this incident.
(A) as if (B) despite that (C) so that(D) what if
(D) 35 An i1deal meal should of some combination of meat, rice, beans and vegetables. Just eating one of them
1 not healthy.
(A) regard (B) locate (C) accuse(D) consist
(C) 36 Ivan was lucky enough to be granted the of dining with the superstar in a fancy restaurant.
(A) dignity (B) attendance (C) privilege(D) submission
(A) 37 In today” s global economy, a second language may you with the ability to understand the way
business 18 done overseas and maximize your potential.
(A) equip (B) evade (C) erupt(D) exert
(A) 38 For this examination, the first part was easy, the second part was extremely challenging.
(A) whereas (B) whether (C) meanwhile(D) hence
(A) 39 The instant noodle does not look particularly good, but the advertiser makes it look quite on the TV
commercial.
(A) attractive (B) equal (C) individual(D) obvious
(D) 40 Many university graduates prefer employment in the government to that in the private .
(A) compartments (B) eras (C) partitions(D) sectors
BT EESE 41 BEEE 45 B3
We live a fast-paced life. Everything happens quickly nowadays, and efficiency is the key theme of our society.
Email has replaced the paper letter. Words flow from our fingertips faster than ever before, but not everyone 1s
happy about it. Some people prefer writing slowly. Tom Hanks, American actor, director, filmmaker, and
collector of more than 100 typewriters, is one of them. The 58-year-old Oscar winner is_41 the sound his
typewriters make. He can choose from a variety of them, each of which 42 its own sound. The volume and
rhythm are determined by the force with which the fingers hit the keys. The collecting process itself, hunting
and searching for rare pieces, 1s also a great pleasure.
The 43 , however, is often tied to the price tag. Some vintage typewriters cost hundreds of dollars or more.
Luckily his acting career 1s lucrative enough to pay for his hobby. Tom Hanks is not alone. More and more
young people are tired of digital technology and looking for a better experience of writing. They enjoy typing
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because they can focus on thinking; they would not be 44 by email, googling, or Facebook. 45 , typewriters are
entirely powered by your fingertips. They do not require electricity, so you can gracefully carry on writing in a
sudden power outage.

(D) 41 (A) attending to (B) weary of (C) insisting on(D) fascinated with

(A) 42 (A) produces (B) reduces (C) excludes(D) includes

(C) 43 (A) 1gnorance (B) advantage (C) sorrow(D) reward

(D) 44 (A) enlightened (B) stimulated (C) abolished(D) distracted

(B) 45 (A) By accident (B) Better yet (C) For starters(D) In short

BT EES 46 EHESFE 50 & -

Scientists say it could take at least 1,500 years before humans make contact with species of aliens, or for
them to communicate with or find us. Astronomers from Cornell University in the USA combined two existing
theories about the possibility of life existing on other planets to form a new equation. One of these theories is
the Fermi Paradox described by physicist Enrico Fermi in 1950. This states that while billions of Earth-like
planets exist in our galaxy, not one has made contact with Earth yet. The other 1s the mediocrity principle,
which suggests that because there 1s life on Earth, 1t will typically exist on Earth-like planets throughout the
universe.

Study author Evan Solomonides will soon present a research paper on his theory. He said, “We
haven’ t heard from aliens yet, as space is a big place, but that doesn’ t mean no one is out there.”
According to Solomonides, extraterrestrials could have received signals from Earth. However, he proposes that
ET would not have been able to decipher them. He said they would need to decode the light waves into sounds
and analyze 3,000 human languages to understand any messages. He said that signals from Earth have only
reached about 8,500 stars and that the Milky Way galaxy alone contains 200 billion stars. He added, “If we
stop listening or looking, we may miss the signals. So we should keep looking.”

(A) 46 According to the passage, what might be preventing extraterrestrials from approaching Earth any time
soon?

(A) The difficulty in deciphering human languages.

(B) The long histories of 200 billion stars.

(C) The similarity among human and alien species.

(D) The number of planets in the Milky Way galaxy.

(D) 47 According to the passage, which of the following hypotheses 1s made by scientists from Cornell

University?

(A) The mediocrity principle rules out the possibility of life forms on other planets.

(B) Aliens from Earth-like planets might use light waves to communicate.

(C) Extraterrestrials from 8,500 planets might have translated signals from Earth.

(D) Aliens might need to interpret about 3,000 languages to understand Earth.

(B) 48 According to the passage, what does the word “paradox” in the Fermi Paradox imply?

(A) An observation based on coherent evidence.

(B) A theory based on contradictory statements.

(C) A conclusion based on extraterrestrial correspondences.

(D) A hypothesis based on mediocre calculations.

(A) 49 What could be the central message of the passage?

(A) Still more attempts need to be made to reach out to other planets in the Milky Way galaxy.

(B) Cornell astronomers might propose new forms of communication in our galaxy.

(C) Extraterrestrials from 8,500 stars might be speaking similar languages to those on Earth.
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(D) Evan Solomonides will soon propose a theory to challenge the possibility of life on other planets.
(C) 50 What might be the most suitable title for this passage?

(A) The Scientific Methods of Extraterrestrial Communication

(B) The Aliens Are Decoding and Analyzing Human Languages

(C) We May Not Meet Extraterrestrials Until Beyond the Year 3500

(D) The Quantity of Our Galaxy Hinders Reception of Human Signals



